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5. A baseball has a diameter of 7.4 cm and a mass of 145 g. What is its terminal velocity? The temperature is 25° C 

6. If the minute a baseball is released air friction takes over. Based on the fact the world record pitch had an average velocity of 
46m/s, what does this say about the velocity the ball as it left the pitchers hand?  

7. What is the force of air friction on a 46m/s fastball? 

8. A 1x2x3 m steal beam is dropped by a crane 30 m from the top of a building. steal has a density of 7.85 g/cm3. What is the air 
resistance on the beam if it falls with the 2x3 face down? What if it falls with the 1x2 face down? Assume in each problem, 
that at the point looked at v=20m/s. The air temperature is 20° C Also assume the beam is a long cylinder. 

9. What are the terminal velocities in each case above? 

10. Now lets assume we have a feather of a “BIG” bird. The feather has the same data as problem 8, but the density of the feather 
2.5 x 10-3 g/cm3

. What is the terminal velocity? 

11. What is the force of air resistance for the feather is problem 10 if it is dropped with the 2x3 face down? What if it falls with 
the 1x2 face down? 

12. A person drops the cube in #1, but now it is angled. What is the force of air friction at 2m/s? What is the terminal velocity?  


